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B B = F H®RavbkEIILGC| 83 83 (40/43)
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W A s F4H S — 4HcCcC 8 85  (43/42)
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59 7 B =W F A 15 BMGC 91 91 (45/46)
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59 a E & F ®cc Ol 91  (46/45)

5E H E X F ®m =T #Hcc 9 91 (47/44)

i B F oy bL—F¥HIFCC I 91 (47/44)

/8 B F K E »cc 91 91 (45/46)
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IR JT ' 2 — JcCcc 9 92 (48/44)

= R B % ¥ mccl 92 92  (48/44)

? B ¥ FE K E fL Rcc 92 92  (49/43)

71 A OBOB A M GCcl 93 93  (45/48)
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3] yi B2 = WGC 93 93  (49/44)

76 m B K F ivi-T UENAT GC| 94 94 (50/44)

B R & FF mCC 9 94 (44/50)
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80 BER” K 232 F #H M GC 95 95  (50/45)
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Z B A £ F I =2 > GC 95 95 (50/45)

¥ W ®m F F Vi v CccC 95 95  (46/49)

84 2 T & &F F 4L B E GC 96 96  (50/46)

8 B & F * v Ecc 9 96  (48/48)
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